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Choose the correct option and write jt -

(1) The time-period of famous Greek mathematician Thelas is :-

(@) ‘B. C.1640'— 546 (b) 476 ~ 550 B. Cq
(©) 1793~ 1855 B. C. (d), 770~ 850' B, &
(ii) Distance between point P (3,2) and Q (-2,-3) is :
(@) 7.09 (approx.) (b) 7.07 (approx.)
(©) 7.21 (approx.) (d) 1.41 (approx.)

(1ii)) Quadratic polynomial ax? +bx +c, the graph of found on graph paper -

(a) straight line | (b) parallel line

(¢) parabolas (d) curve line

(iv) The pair of linear equations ax+by+c =0 and gyx + byy+c, =0 1is

dependent and consistent, if
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(c) —L=—L=-1 (d) 1=b1¢1
a,. b, «c oL )2 O

(v) No real rbots of quadratic equation ax’ +bx+c= Q= 1f

(@) b%+4ac>0 ®) h2i quc L
() b’ - ol (&) 5% —4ac<0
| 1 .
(vi) 11th term. of the A. P. : —3,—5,2, ..... is :
(a) 28 ' B)E22
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(i) faandy G ax? +bx+c=0 B g HLA &g GEET T i
(i) WO 9D 7, 13, 19, .., 205 F W @ He i1
(iii). @ ' %;3@[ ]
(v) B r a® gu % Proads, fraer @ dat & 0 8, % dW A9
# o
._(‘V). ﬁ@ _ g §
(Vi) T x % g P'(ja'c)'ﬁxa?raﬁaqzrm HEAlCl |
Fill in the blét_iks Dy T
(i)' _ Quadratic.v formula —is solving for quadratic equation

ax’ + bx+c = 0.

(i) The number of terms in the A. P.: 7, 13, 19, ... 205

i) Al =" triangles are similar

(iv) -Lengthtofvs an arc of a sector of a circle with radius » and angle

with degree measure 0 is -

) - & 1S Bud number.

(vi) P (x) is a polynomial in x, the highest power of x i P (x) is called
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Write True /,_F_alse in the following :

) ]
(1) SShe heigh}t’—’.,ior length of an object or the distance between two distant

objects can’ be determined with the help of tr,igonometﬂc ratios.
(i11) The mean is that value among the observations which oceurs most often.  '

(i11) The sum }c:)f the probébilities of all the elelnentargzlfg';events of an

experiment is 1.
(iv) A line irit_ersecting a circle in two points is called a slant secant line.

(v) Probabilify of an event which is sure to occuf 1S

(vi) Volume of any hemisphere 1s EW , where r is a.radius of circle.

—
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(i) sec?0-1

(i1) tan 30°

(iii)) BraEs &1 89w
(iv) STl &1 Smgae
(v) sin?25° + cog? 258

(vi) tan®

Match the correct column -

Column - “A”

(1) sec?0—1
(i1)) tan30°
(ii1) Area of a sector

(iv) Volume of hemisphere

(V). sin® 2 cosi2 25

(vi) tanO

| / T-0659_C
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(a)
(b)

(d)
(e)

(D)

(2

(h)

(a)
(b)

(c).

(d)
(©

()

(2)

(h)

- P

360

Column - “B”

1
) 2

T ) £

360

sin©

- cosH

tan? 0

=

0

L ——x27tr
0

36
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W'APQR agf ﬂwaﬁ'anﬂT PR T A fag E & F fad €
qarzu fop EF; | OR & wiEfe — '
' ‘PE= 4 cmy QE=4.5 cm, sz 8 cm, RF=9cm
E end Fare points en the sides PQ and PR respectively of ‘APOR
State ﬂyhether EF »H: @R Wh'en |
'. PE=4 cm, QF = 4.5.cm, PF= 8‘cm, RF=9cm
am?n / OR
a@%ﬁaﬁpgum% a‘rﬁa@aﬁm
APOQ ~ ASOR ’ |
In ﬁgu‘re,, ;f"PQ I R;, AprO\'/:e ;ﬁat APOQ —ASOR
r i

i%ugaﬁ(—snaﬂr(—m)aseﬁaa%{&amaﬁﬁm _ 5
Find the dlstance between the points G and: (~1: 3)

- sHa /| OR
ﬁrufﬁ?r?’r‘»’rﬁmﬁswﬁl@(l 5) (23)@T(—2—11)E“(@i’r%|

Determme if the pomts (1 5) (25 3) and (-2, —11) are Collmear.

100 )./ T’°6§9fc' e 8 e I e,




9 y @ I WM TG @i, freds R Ry P (2,-3) @i 0(10,y) F &= 2
& <0 10 7w b g 4

Find the Values of y for which the distance between the points' Pi(2,-3)
and Q(IO, )./)‘ 1S 10 units.

St /| OR

ﬁxng%_ﬁ?‘f?ﬂ?ﬁﬁlﬁaﬁm,W’AB@WWW%,WWQ,%)
¢ qm B & fdae (1,4) ¥1

Find the coorc!inates of a point 4 where 4B is the diameter of a circle whose
center is (2,-3) and coordinates of B are (@4

10 =& wFBr BYs ABC ¥ /B =wguawor g AB=4 cm, BC=3 cm @, d 2
sind 3T cos 4 & A T HNT|
If in right—angle triangle ABC, £ZB = 90° and 4B =4 cim, BC=3 cm,
then find the value of sin A and cos 4.
, G s | OR
sin 60° cos 30° + sin 30° cos 60°
Find the value of :
sin 60° cos 30"+ sin 30° cos 60°

1l fas A 5 e g9 % fedt o % R W g T st v qe 2
Prove that th'é tangents drawn at the ends of a diameter of a circle are
parallel.

s /| OR
s g O & uF gq X W Y@ H TEE 24 ¥ GO K I ¥ Q@
25%%,&"@@%@1%#%1@1 T
From a poih:t' O, the length of the tangent to a circle is 24 cm and
the "distance of @ from the center is 25 cm. Find the radius of the

circle.
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F 5w el § iy R @ 1 s Hiferg b AE
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A horse is tied to a peg at one corner of a square shapf St
side 15 m by means of a 5m long rope. Find the area ©O

field in which the horse can graze.

f
s rt of the

Fyar /| OR

B 218 9% 99 @1 s w9 60° @1 F GARd B €
qT B TG F BT

: 3 ) o ter
In a circle of radius 21 cm, an arc subtends an angle of 60° at the cen
Find the length of the arc.

B9 TH U B TH SR G ¥ S i —
() 47 1 dem i e @ e
(i) 4 ¥ B wer ur A w5 R
We throw a die once. Find that 4
(1) What is the probability of getting a number gréﬁér'than 4?2
(i1) What 1s' the probability of getting a'number less‘“i'\lt‘hml 47

€3 s [ OR
a@wmwﬁﬁnwmm@@ﬁm@Wﬁmwma
(i) TH b1 EET
(i) Th FHH] Tl & .
One card is drawn from a well shuffled deck of 52 qa,rds,
calculate the, probability that the card will -

(1) be an a’c_;_é’

(i1) not be an: ace

100
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a, b, &

SaY fb B WG, R AT SN B

Sx=4y+8=0 m

7x+6y—-9=0

. . B b S ) : thé: uations
Find the ratios —, — and —- for the following pair of linéar eq
L 05 o)

and say that it is consistent or inconsistent.

S5x—4y+8=0 .

7x+6y—-9=0

X1 s /| OR
- Solve the folloWiﬂg pair of linear equations:

2 sp gl = lal
e Vi — 4

18 @%W%@@ﬁ%%%—%@ﬁﬁ%ﬁﬁwg’wa;
fémafrwqq?ﬁfwm%wﬁﬂna%*ﬁéaﬁaﬁml 2

The angle of ele\_(gﬁ'on of the top of a tower from a point on the ground, which
is 25 m away from the foot of the tower is 60°. Find the height of the tower.

¥ /| OR

ﬁﬁ%@%ﬁﬁ;gﬁzorﬂaﬁw%&mwﬁww HMR & o aix
¥rER & W?};:TU[EF{QT 45° 3 60° ¥ | YR &% SHTS S I |
From a point on;it};;e ground, the angles of elevation of the bottom and the top

of a transmission_"’tower fixed at the top of a 20 m high building are 45°

and
60° respectively. Find the height of the tower.

100 | / T-0659 C 12
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Fretfefead siies 225 Ryoieht syt % Afiq sa B (@2 &) B G
Wﬁwaﬁwvﬂaﬁmaﬁwl

“‘15'0’715(:120
Lﬁﬁawm(dﬁﬁ) 0-20| 20-40 | 40-60 | 60— 80 801001007 "2V

29
Lan‘anm 10 35 52 61 38

. S in hours)
The following data gives the information on the observed lifetimes (in

i Y nents.
of 225 electrical components. Determine the mode lifetimes of the compO

, 8120
Lifetimes (in hours) | 020 | 20_40] 40 60 | 60— 80 [80 — 100 (100

Frequency e ; 10 35 52 61 38 27

22 %ﬁgaswﬁarmgw‘aﬁsﬁ%q:
3x+4yel0 3R 2x-2y -2

Solve the pair of linear equations -

3x+4y =10 and.2x-2y =2
s | OR

'ﬁ@ﬁaﬁa‘w%ﬁwuﬁ9%lsﬂﬁw

T HEH B Y T ¥ 7 e s i '

The sum of the digits of a two digit number is 9. Also, nine timééihis number

is twice the number obtained by reversing the order of the ¢ 1ts Find the

number. “ 3
100 / T—0659_C
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A medicine capsule is in the shape of a cylinder with two hemispheres stuck
to each of its ends. The length of the entire capsule is 14 mm and the diameter

of the capsule is 5 mm. Find the surface area.
sty [ OR

@WW%Wﬁwwﬁﬁw%ﬁwﬁwwﬁ%ﬁﬂm gTeFTHTL
T 9 g ¥ AT b R 15 T ¢ 10 Ffr x 3.5 At %1 v T AP 0.5 7
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A pen stand made .Qf wood is in the shape of a cuboid with four conical
depressions to hold pens. The dimensions of the cuboid are 15.cm by 10 cm
by 3.5 cm. The radius of each of the depressions is 0.5 cm and-the depth 1s

1.4 cm. Find the Volufne of wood in the entire stand.
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